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3HQHULPDDQ�SDMDN�PHUXSDNDQ�VXPEHU�GDQD�WHUEHVDU�EDJL�SHPHULQWDK��6HEDJDL�

VXPEHU� NHXDQJDQ� QHJDUD�� SHPHULQWDK� VHODOX� EHUXSD\D� XQWXN� PHQLQJNDWNDQ�

SHQHULPDDQ� SDMDN�� 'LVLVL� ODLQ�� SHUXVDKDDQ� VHULQJNDOL� PHODNXNDQ� WLQGDNDQ�WLQGDNDQ�

XQWXN�PHQJXUDQJL�EHEDQ�SDMDNQ\D�GHQJDQ�PHPDQIDDWNDQ�JUH\�DUHD�SDGD�SHUDWXUDQ�

SHUSDMDNDQ�\DQJ�DGD�DWDX�GLVHEXW�WD[�DYRLGDQFH�

3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJDQDOLVLV� SHQJDUXK� LQWHQVLWDV� DVHW� WHWDS��

NDUDNWHU� HNVHNXWLI�� NRQHNVL� SROLWLN� GDQ� OHYHUDJH� WHUKDGDS� WD[� DYRLGDQFH� SDGD�

SHUXVDKDDQ�PDNDQDQ� GDQ�PLQXPDQ� GL�%XUVD� (IHN� ,QGRQHVLD� WDKXQ� ���������� EDLN�

VHFDUD�VLPXOWDQ�PDXSXQ�SDUVLDO�

+DVLO� SHQHOLWLDQ� LQ� PHQXQMXNNDQ� EDKZD� LQWHQVLWDV� DVHW� WHWDS�� NDUDNWHU�

HNVHNXWLI�� NRQHNVL� SROLWLN� GDQ� OHYHUDJH� EHUSHQJDUXK� WHUKDGDS� WD[� DYRLGDQFH� VHFDUD�

VLPXOWDQ�� 6HFDUD� SDUVLDO�� KDQ\D� NDUDNWHU� HNVHNXWLI� \DQJ� EHUSHQJDUXK� WHUKDGDS� WD[�

DYRLGDQFH��.HEDKDUXDQ�GDUL�SHQHOLWLDQ�LQL�WHUOHWDN�SDGD YDULDEHO�NDUDNWHU�HNVHNXWLI�

'LVDUDQNDQ� EDJL� SHQHOLWL� VHODQMXWQ\D� XQWXN� PHQHOLWL� NHPEDOL� SHQHOLWLDQ� LQL�

GHQJDQ�PHQDPEDK� WDKXQ�GDQ�SHULRGH�SHQHOLWLDQ��8QWXN�SHPHULQWDK��KDVLO�SHQHOLWLDQ�

LQL� GLKDUDSNDQ� GDSDW� GLWHOLWL� OHELK� ODQMXW� DSDNDK� SHUXVDKDDQ� \DQJ� WHULQGLNDVL�

PHODNXNDQ�WD[�DYRLGDQFH�WHUPDVXN�GDODP�SHQJJHODSDQ�SDMDN�DWDX�SHUHQFDQDDQ�SDMDN��

%DJL� �SHUXVDKDDQ��KDVLO SHQHOLWLDQ� LQL�GDSDW�GLJXQDNDQ�XQWXN�NHELMDNDQ�\DQJ� WHUNDLW�

WD[�DYRLGDQFH�
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